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Coupe surfacique: Coupe transverse:

Cible epaisse:

Tissu capsulaire

Tissu synovial

Os

Prothèse

Faisceau d’analyse

Cible mince:

10 µm

mm

mm

Femur

Tibia

TA6V
UHMWPE

Cr−Co−Mo
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6���� 4���� ������ �� ������

"������� ������ �
�� ������ ���� ��� �������� "���� ���������
� ��������� �� ����
������ 9
�� ���	
��@ �� :����
� �����
�� ���	����� �� ������� $�$���� �� 	�

�� ���
�������� ��M�����
���� ,� :������@ �
����
� ����
� �� ���
������ �� �
���� �� ��
��������������@ 7 ���������
� �� 7 ����
� ������ ���
��� 7 ��� $
����� �����������
�� ��5
���� C
���
��� mm3D �������� �� ����� ��� ������������
��� ������
5�����
��� ��� J�����
������������ ,� ���F��� ���� �� �
����
� ����
� ����� ��� �������� ���������
� �� ������
��
������� ���� �
������� ��� ���������
�� �
�$��� %��� ������$��� ����������� ����
��� ����� �� 	���� �����

� ������
�� �� ����� ��
������ C70

◦
, 95

◦
, 100

◦
D� ���������
� ���

���������
�� ���� ��� �
����
� ��
���� �� ��
������ �� ���� ��� �������� �������� ��
������ ��
�� �� ��
���� �� ��
������@  �$
���� �� ���������
� �� �� ������� �� ������ ���
��� �
����
� ���� C9��	D 7 ��
����� ��� ��;
��� �� /.* C/���� .����� *��������D ��
--2* C-
������� 2������� *��������D �� �� -.��= ������������ �� �
����������
�
C�5)5� 9��������������
������ ����
�D� �� ������ ��
�� �
� ��� ��� ������ ����������
7 �� �
��� �� ����� �� ��� ������ ���	����� �
�� ��  ������� ��������
��� ��� ������ ������
�� ������ �
�� ��� �� ������ �� �
���������� ������� ��������� ;
����

-�� �
���� �����:��� �� �== �� ����������� �
������ �
��  ����� 7 ������ ���� �����5
����
�
��� ��� �
���� ������� �
���������� ��� ��� �
���� �� ���	
�� �
�� ���
����
��� ��� ������ �� ���$��� "���� ������ ��� ������ ��� �� ����
�� ����� ��� $��� �� ����	��
��������� �� ����
��
�� ������
��
���

-�� �
���� ����������� �
������� ����� 7 µm �� 10 µm �
�� ��������� 7 ������ ���
�%��� 	�
��� "�� �
���� �
�� ��������� 7 ��������� ��� ��&�'�( �� ����
�
���� �� �����
�� �
��� �� ����
�
�� ������� �� 0, 25 µm 7 60 µm� ,� �
��� 
	;��@ ��������� ���
���������
�� �� �������
�� C�=��=�)= ��D@ 
������	��@  ������� �� ���
���� ��� �
������
����
��� �
�� �� ���	��� �� ����������

3�� #���� �� �� �
���������
�

/
�� ����
�
�� �� � ���������
�� ������� ���5
�����
���� �
�� ���
 ���������
�� ��
�
����� �� �� ��
����� ����� 
���� ����� ���
��@ ������ ��� �� �
���������� ���$���� Ei

�� T1 � ,� ��
��� �
������ ��� �������� 7 	��� �� ������ �������$����� CP1@P5D �� ��
����� ��
���@ ��� ��
������ ������5"�5"
5.
 CP2@P3@P4D� ,� ���������
� Ei �
�����
��

!�



7 ��� ��
����� Pi�

"
���������
�

�� µg/g

������
9�

$�������
>

�
	���
"


���<��
"�

E1 1431 ± 73 39 ± 10 < LOD < LOD

E2 92982 ± 4887 4000 ± 263 676 ± 38 313 ± 26

E3 127731 ± 6770 5818 ± 368 981 ± 62 840 ± 72

E4 267316±10648 11144 ± 546 2169 ± 91 1112 ± 7

E5 257 ± 14 9 ± 4 < LOD < LOD

T1 32 ± 22 67 ± 14 0 < LOD

���� ��� U "
���������
�� ��� ���� ���$���@ ��� �������� 9�@ >@ "
@ "� �������� ���� ���
� ���������
�� 7 ������ ��� ��	��� ������� �P- 8 ������ �� �������
��

��� �
���������
�� �� T1 �
�� 9�@ >@ "
@ "� �
�� ���	���� ��� ��������� M
��� ���������
�� �
�������� �� ����� ���
�� T1 �
������ �� ������ �� �� $������� 7 ������� �� �� ���
�� �! ��� 
� µg/g� ��� ������������ �
�������� ��� �
���������
�� �
�� ���
�������@ ���
������� �����  ��	��� �� ��
���� �� �� ������ �� �������
� C�P-D� *����� �������� �� "

��� ��� ��������� �� ���	���� ���
$���� ��� �
���� �
�� �� ��� �
������ ��� �������
H3!I� �� ������ �� �������
� �� �� ����
�� �&'( ��� ��:��� ��� �� ���	
�� �P- 8 ����
�� ��� �� "�@ ����� ������ �� �������
� �����$� 7 )= ��� ��$��
�� -�  �F
� ��������@ ���
�������� �������
��� 9�@ >@ "� �
�� �� ��
���� �� �� ��M���� �� ��� ���� �� ����� ����
��
��������

�� �
�������
� �� 9� �� �� > �
�� ��� � ���������
�� �$�� T1 �
���� 
�� �������	��
��� ���������
�� �
����� �� ����� �� ��� �������� ��� 7 ��� �
���������
� ��� ��� ��
5
������� ��� ������� �� > �� E5 �� �� E1 �
�� �� �������� 7 ������ �� T1� /
�� �� ����
�
��

�� ���� ���
��@ �� ��� ������� �� �������� ������ ���$��� $����� ���� ����� 7 �� ������

E2@ E3@ E4 
�� �� �������� �� 9�@ >@ "� �� �� "
 ��� ����
�� 7 T1� "��������@ ��
������ ��  ������ �== ����� ��� �
���������
�� ��� ��� ���� ����� ��������� 8 9*�> �
����
���� 
�� "�5"
5.
� ��� ������� �� "
 �� "� �
�� E1 �� E5 �
�� �� �������� 7 �� ������ ��
�������
�� �����
�����
� �� 9*�>?"�5"
5.
 �
������� ���� 
����� ��
����� �� 9*�>
����� &� ��� ��S���� �� ����������� ��� �� �
��
������� �� ��� �������� 7 ������ �� � ���
��������� ,�� ����� �
��
����� �� ���� ����� �
�	�� �����������
�� �
������ �
�:����

� �
� ����� ���������

��� �
���������
�� ��������� �� ������ ������������ ;��
��7 ��L �� �� ����� �
����
����� �� �� ��	�� �������� �� �����������
� E4� * �� ����� �� �
���������
�@ �� ������ �����
���� �� ������� ������ /
�� �
���� �� �������� ����� ����  
��� �
�����
�� �� ��������
���$��� ������ ��� ��������� 
	����� 7 ������ �� �� ����
�� 102 ��� ����J����� �� �����
�
�����
� �������
�� ���� �� ������� 	�
�
��
���
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������ �

��������	���	�
 ��� ����
�	���
�

�	����	���� �
 �����
�� �� ����

��� ���������
�� ��
$������� �� ������ ���������� �� ���
$���� "�� ������ �
�� ���	
��
�������� ��� �� ����
�� ��&�'�( �:� �� ���������� ���� �
���������
� �� �������� 
�
��	��� �������
���� �� �
��
����
� �� �������� ��;���� "@ /@ P@ A ��� ���������� �:�
��������� ��� �
���������
�� 7 ������ �� �
������ +,�&' �� ��	�� �������� �� �������5
����
� ����� ������ �� �� ��
����
������ �� �� �
��������� �����
�� �� ��
�� ��������
��;���� ���������� "@ /@ P �
�:��� �� ������ �� ��� ��������@ ������� ������$��� ���
�� ������� �� ����� �� 70% 7 80% ����� �
�� �� �� ��
���������
� �
��� ��� ��������
� ��
�� ��
����
������ ��� �������� �
��������� �� ������� ������ ������
���� ��� 
	���$�	��
���
������ ��� ��� �
�����
�� $��� ���$���@ �
� ����
�������@ �
�� ��� ����
�� ������5
��
���� �� �
��
����
� �� ����� ������ �� ������ ���� ��������� �$������

�� �
��
����
� �
����� �� �� ��	�� ��� ������� �
��
������ ��
����� ��� �������� ���5
	����� �
�� ��  ������� $�� 7 $�� ��� ������ ��	��� �
�� �� �����������
�� �
�� ��� ������ ������
�� ������@ ��� �
���������� �
�� ��:��� ����� ��� ������ ���� ��� ��������� ����������� ��
�����������
� �� ����� ��� ���4�� �����������
�� ��� �������� 102 �
�� �������� ������ ���
��
������� 1�,�.�� �� 1�,�.���&�/� &�� ����������� ��� �� �
��
����
� �� �� ��	��@ ���
�� ������ ���
���@ ��� �������
������� ��� ��	���@ ��� ��� ���4�� ��
$

��� ��� ��  �������@
����� 
�� ��� ����J����� �� ������ �� �
���������
� ��� �� ��
����
������� ��� ����������
�
�� �
��������� ��� �� ������ ���
����

4�� �
��
������� �� $������� �� ��
�
�� ���� ��� ��	���

��������� ���  �������� �� ��
�
�� ��� �� � .�>� 2��$��� ���� 
�����
� ����������@ ���
��	��� ����������� �� �� ������� ���������� ���
�� ���������� *:� �� :��� ��� ����� ��� ��

������� ��������� ���
���@ ��� ��������
�� 7 ������ �� ��
������ 21&.591&. 
�� ���
��������� H)=I� �� �
��
����
� �� �������� ��;���� C"@ /@ PD ��� ���������� 7 ������ ���
������� 1�0�2� ,�� 	��� �� �
����� :�� �� ������ �� ����
���� ��� �
�������
� �$��
��� �
��
��� ������
��� ��
���� �� ����� ���������� ��
�������� ��� �������� $
����
���
�������� �
�� ������ ����������� ��� 1�0�2 �� �
��������� ��� ��������� �
����� ���
�
���� �� 10 µm@ $����� �
������ �� �
� �
���� ������� -��������� ������� �� 9*�>@
��������� �� L �����
��@ �
�� �������� 7 �� ������� 	�
�
��
��� ��� �������� :����� �
��
���	
���� ��  
����
� �� �� ������ �� 9*�> ��� �
�������
��

!#



	���� 2��7� �,������� ��� ��
�� �����

,� ��
�
� �� 3 .�> ���� ��$��
� 3% �� �
� ������� �������� ���� ��� �
��� ��
�����5
��� ����������� 10, 5 µm C��	���� !��D� * ����� �� ������� �
��$�������@ ��� ����������
�
�� ����������� �� 4 µm ��
$

�� ��� ����� ��������� �� 1% �� ����� �� �%�� ��������
��� �
������ ��� ��� �
���� �� ����� ������ �� �������

����� ��������� ��
.�>

(��������
�� �
���
�� µm

9���� ����
��	��� ��
9*�>

�=L ��
9*�>

�� L ��
9*�>

9���� ��
������� 3@� =@=�� 5 5
�$�� ����
�� �=�� =@=3# =@�� =@���
 
��$�� ��@� =@�=� 5 5

9���� �= =@�� =@�� =@��
������ �� �� =@�� 5 5
������ �) =@�� 5 5

���� !�� U ����� ��������� �� .�>@ �� ��
�
�� �� � .�>@ ���� ��� �
���� ������ 7
���������� ������� �� ��	��� �� 9*�>� (����� ��������
�� ������� 7 �L�

�� ������ �� ��	��� �� 9*�> ��J����� ����� �� ���<� ���������@ �� ������ �� ��� ������
�������� �������� ���� ��������� ���������� �� ������� �� �� ��	��� ,�� �
���������
� ��
��
���� �� 25% �� �� ����� �
���� ��� ������  ��� ������ �� ����� ��������� �� ��
�
� ��
3% 7 5, 5% �
�� �� ����� ��
������� �� �� 4% 7 10% �
�� �� ����� ������ �� �������

�� $������
� �� ����������� �� 
���
��� ����
�� � ��� ����J����� ��� �� ����� ������5
���@ ��� �
���� ��� �������� ���
������ �� ��	��� �������� �� ���<� ����������

	���� 2��7� �,������� ��� ��
�� �������

�
��
�� ��� ��	��� �
�� ��������@ ���� ��F
�$��� �� �
������ �� ��������� �� �� ����������
/
� �
���� 
�� ��� ���������� �� ��������� ��@ ���
�� ��
�
� ���
�� 3 .�> ���� ��
��	��� "�������� ��� �
��	�� �� 0���� ����
���� 
�� �� ���<� ��������� ����� ��� ���5
 
��� �
�� �� �
�� �� ���;��@ �� ������� ��������� ��� ���� �� :� �� ����
����

�� ������ �� �� ����� ��������� �� �
�� �� ���;�� ��  
����
� �� �� �������� ����
�5
��� ������ ��������� �� ����
��� �
��� �� ��
�
�� �� ����
��� �
��� ��� ��
�
�� ���
���� ���
����� �
�� �� ����� ��
������� 
�� ����� ������ �� ������@ 
�� ��� ���� ������ ��
�������� �� 9*�> ������� �� ����
��� ��� ���������� ��������� (� ����@ 10% �� 9*�>@
�������� ��  �F
� �
�
���� ���� �� ������� 	�
�
��
��@ ��������� �� 35% ��$��
� �� ���5
�
��� �� ��
�
� �
�� �� ����� ��
������� �� �� 25% �
�� �� ����� ������ C��	���� !��D�

�� ����
��� ���� ��
�
� ���� �� ���������
� �� ����� ��
�������@ �
������� 10% ��
9*�> ��� �� 157 µm ��$��
�� &� ���
�� � .�> ��� ����� ��
 
������ ��������� �
�����
���
��� ��� ��� ��������� �� 10 µm ��� �� 0.19 .�> C�?��!��=D�

�� ������	���
� �� �
���������
� ��� ��	��� �� 9*�> �� �� "�5"
5.
 ��� �����
����
���� ��� ���������
��� �
�� �� ��������� �� ��	�� �������@ �� $
���� ��������� $���� ���$���

3=



L �� 9*�> ���� �� ����� 9���� ��
������� 9���� ������ �� ������

= L 241 ± 5, 3 165 ± 3
� L 224 ± 5, 3 161 ± 2, 6
� L 190 ± 3, 6 141 ± 2, 5
�= L 157 ± 2, 3 124 ± 2, 3
�� L 137 ± 2, 4 111 ± 2, 7
�� L 108 ± 2 96 ± 2
�= L 76 ± 1, 5 72 ± 1, 9
�== L 59 ± 1, 6 59 ± 1, 6

���� !�� U ����
��� �
��� �� µm@ ��� ��
�
�� �� � .�>@ ���� ��� ��	��� �������� ��
�
�� ��$����� ������� �� ��	��� �� 9*�>�

�� �
���������
� �� ��������� ��M����� �� µm� 2��$��� ��������� �� ��
�
� ' �� ���������
�������@ �� ��������� �� ��
 
����� ��������� ������ �����������
� �� �� ��
�
�@ ��� 
�5
F��� �
� �����
������� ���� �� ��	���

���  
���� �
���������
�� ���������� �� ���<� ��������� ��� ����� �� $
���� �� ���
�
���
���� �
��:��� ��� ���4�� �����������
�� "������� �
����� �� ������ �� �������5
���� �� �� ��	�� �
�� �� �
��� ���$
���� ��� ���$���
�� ����������� ��� ������������ ��
 ���
� �� �� �������� �� �
���������
� 
� �
� �� �� ����� ��������� ��� ���
������� ��
�� �� �����������
� �� �� �
������$��� ������
�� �� �������� ��� �
���� �������� �
����5
���� ��� ������������� �� �����������
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������� ��������� ��� ��	��� ������ ��� �������� �� ��������� ���
�
���� ����������� �� 10± 1 µm 7 ������ ���� ���
����
�
��� (���� �
�� ���
���� ��� ��
:�� ��  
��$�� ����������� �
����� 0, 5 µm �
������� �)L �� " �� ��L ��P� �� ���5
���� �� ��� �� ���	
�� ��� ��
�
���
������ 7 ����������� �� �� ��	��� �� :���� !�� �
����
���$
����
� �� ����������� ��  
����
� �� �� ������� ��� ���
��� * ��������� �
������� ��5
�������� 7 ������ �� ���	
��@ �� ������� ��� ���
�� $���� �� ������ �� �
�	��� 2���� ��
��
�
���� ���������� ��� ���� ������ ������� ��� ���
�� ��
�
���
������ 7 ������������ "����
�
�������
� ����� � �� Cρ×tD ��� �����	��	�� 7 ��� ����������
� �� ����������� �� �� �
����

&� ��� �
���	�� �����	��� ��� 	��� �� �
����� �
�������� �
� ���������
�� ��
�������� 7
������ ��� ������ �� ��	��� ������@ ��
:� �� ��������� �� �� ��������� ������ �� �
�����5
����
�� ��� ���4�� �����������
� ����� ���� ���
������ �� ��	�� ������� 
���� ��	�� �����@
��� ��������� 
	����� �� ��	�� ����� �� �����
����� ����� ��� ������ ��
��������� ��� ���5
����� "@ /@ P �� A ������������ 96% �� �� ������� H33I� ������� �� �� �
��
����
� ����
����� �
�;
���� �$��� ��
���������
� H)=I �� �� ��������� ��� ����� ����� �� 70% 7 80%
�
�� �� �� ��
���������
�@ �� ��� �
���	�� ��������� ��� �������� ��;���� �
������� ����5
��
���� 
�� ��� ���������	�� ���� �� �
�:������
� �� ����
���� ������������� ��� �
�����
�������������� �� "@ /@ P �
�����
����� 	��� ��� $������ ���
��
����

�� ��	���� !�� ������ ��� ������������
��� �
������ ���
�������� ��� ������ �����@
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-���� �� ��
�
���������
�
�� 9� �� µg/g

�=== �== === ��� === �== ��= ===

-������
��� ���
�� ��

µg/cm2

338 ± 67 470 ± 115 459 ± 113 365 ± 52 644 ± 154

(��������
�
����� ���
�
���� �� µm

9, 9 ± 0, 15 8, 73 ± 0, 9 9, 97 ± 0, 5 10 ± 0, 5 11, 4 ± 0, 7

-������
$
����
��

g/cm3

0, 34±0, 16 0, 57 ± 0, 1 0, 46±0, 18 0, 36 ± 1, 6 0, 56±0, 12

L �����
��
�� "

46 ± 1, 5 46 ± 1, 5 48 ± 3, 5 49, 9 ± 1, 6 45, 5 ± 5, 4

L �����
��
�� /

15, 8 ± 0, 9 14, 2 ± 0, 9 11, 2 ± 1, 6 13, 6 ± 1, 1 13 ± 1, 6

L �����
��
�� P

22, 5 ± 2, 2 20, 4 ± 1, 2 20, 5 ± 1 22, 01±0, 7 21 ± 1, 6

���� !�� U "�����������
��� �
������ ������$�� ��� ������ 	�
�
��
��� ��� ���
 �����5
����
���

�
�� ��� ��������� ���������
�� ��
��������� "������� �
���� �
�� ��������� �� ����
� ��
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���� ������
����� +�
	�������@ ��� �
����� �
�������� ��� ��������� ���������
�� �
��
����������� ��� $������ �
������ �
�� ��������� ��� ��� ��
 
����� ���������� 7 �� �
���5
������
�� �����������
� ) �
����� ��� ��������� �
����� �� �
��� �� 11, 38 µm �$�� ��
����� ����� ����� �
��������@ ��������� �
���� ���������� ��� ���������� �� 15 µm $
��
�� 20 µm� �� �
�������� �� �
��������� �����
�� �� /@ "@ P ��� �
������� �� A@ "�@
R@ "�@ 2@ 9�� � �

	���� ����������

�� �
��
����
� �� ����� �
�;
���� �$��� ��
���������
� $���� ���$��� �� M
�� �� �����5
$����� �� ���� ��� 
�� %��� ��������� 7 �� ����� ��������� 
� 	��� �� ������ �
�������
��
�� ��� 
�� �� ����� �������� �� ��	���� !�� ����
�� �� �
��
����
� �� ����� �$��� ��
5
���������
� ��������� ����� �
����� ��� ���������� ������� �
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�� �
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��
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��� L ����� �� ��������
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�
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�� �� �� ��
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���� �� �L� �
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� �� ��5
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� �� �� ������ 
�� �
�� 	�� �� ��	������� ����� ��� �� ��
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A �=L !@�L 3L #@�L

" �=L )!L ��L ��L

P !�@)�L ��L �=L �)L

/ �@!L ��@�L 5 �@�L

���� !�� U "
��
����
� �����
�� �� ����� ���@ �� ����� ��
�������@ �� �� ������ �� ��
����� ������ �� ������� �������� ��� �� �=L ��$��
��

���������� �� �
��������� �� ������ ��������� ���� �� ������
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� ��� ��	��� �� ����� ��
������� 
� ������ �� ������ �
���� 
������� ��5

������� ��� �������� ���	����� �
��
�� �� ������ ���
��� ������� �� ����� �� ��
���� ��
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�
�@ ��� �
�����
�� �����������
�� ���
��
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����� �� �
���
������ ��������� ��� �
����$�� 7 � .�> �
�� ��������� ��� �����	�����
���
������ �
�� �� ������� ����������� ��� ������ �� ������� �������� �
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� ��������� ��� �
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����
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����� �� ���������
� �� �� �
���������
� ��� �������� �
����5
������ ��� ��������@ ��� ��
:�� �� �
����@ 7 ������ ��� 	�
����� �����$���@ �
�� ��������
�� �� M
�� ��
��� �� ��������� C����� ���
$���D $��� �� ����� ���������� C:����� ���@ ���D�
�� �������� �� �� M
�� ��������@ ����� 
�� �� �
�	�� �� �
���� $������ ��  
����
� �� ��
�
���������
� �� �� �����������
�� ��� ���������
�� ��� �
��� �
�������� E1@ E2 ���
�� ���5
����� ��� ��� �������� �� �== µm� ��� ������ E2@ E3@ E4 ��� ��� ��������� �� ��== µm ��
��== µm� �� �
���������
� 
	����� ��� ���
�� �
��� ���������� �� �
����� ��� �
����5
�����
��@ �
���������
�� �������� 7 ������ ��� ����
�������� ������������ 700× 700 µm2�
��������� ����
�������� �
�� ��������� ��� �
�����

��� ������� �� �� :���� 3�� �
������ ��� ��
:�� �� �� �
���������
� 9� �� > �
�� E1

�� E5� �� ������ �� 9� 
� �� >@ ��
��� �� ���������@ ��� �� �%�� 
���� �� �������� 
��
����� 
	����� 7 �� :� �� ��
:� ��� �== µm� E1 �
����� ��� �
���������
� ���� ���$�� 
��
E5@ ��������� ��  
���� $������
�� �
�� �
�������� �� �
��� �� ��
:��

�� �
�������
� �� 9� �� > �
�� E1 ����
�� �� �
��
������� �������� �� ��	�� ��
��
:� �� ��� ���������� �� :� �� ����
���� �� ����
�� �
��� [T i]

[V ] ∼ 32 ± 4 ��������� ��
����
�� ���
��
�� �� ��������� ������� 
�� �
�� �
���� �� �������� ����� �
���������
�
�
��  
��� �� ��	��� �
��
��� ����<� 
�� �� ��	��� �
������ �� ����
�� [T i]

[V ] ∼ 0, 47 ��
����� ���
�� �
���� 
���� � � ����  
�� ���� �� > 
�� �� 9� �������� ������������� ����
�� ����� C��	���� ���D� �������� �� ���� �� ���� ��� ��
:�� 9� �� > ���� %��� �
������ 7 ���
���$���� ��������
� �� �� ������ ���
��� ��� �� ��	��� * �
��� 
������� ��	��� �
���� ���
��� ������ ��� 29(. ���� ��� ���� ���������
���

�� ����
�� �
��� [T i]
[V ] ∼ 37 ± 15 �� E5 ��������� ��� �� �
�����
� �
��
�� ��;
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���� 3�� U ��
:� ��� �
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�� 9� �� > �� �� M
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��� �� ��������� $��� �����������
��� �== µm �
�� ��� ���������
�� (�@ (� �

�
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�� E2@ E3@ E4 ��� ��== µm ��$��
�� �� �
��
������� �� ��� ��
�� ��
5
:�� �
�� ��� ���� �������� �������
��� ���	�� ���������� ,� ���� ����� �
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� ��� ������� �
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� ��  �F
�
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� �
������� ���� ������ ������������
� ���
� �� ������ �� ����������

�
�� ��� �
���������
� ��
��� �� ��������� ���������� 7 �== === ���@ �
�� ����
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$
�� ����� )=L �� �=L �� ����� �
���������
� �������� 7 ��== µm C��	���� 3��D�

��� :����� 3�� �� 3�) �
����� ��� ��
:�� ��� �������� 9�@ >@ "
@ "� ��� ��== µm �
��
��� ���������
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� �� ��� 
����� �������� ��� ��������� �� ��� ����5
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����� C9�@>D ����� ���� �� C"�@"
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^H9�IY ^H>IY ^�P-Y �� >

E5 183 ± 129 0 57 ± 20

E1 1825 ± 1136 = 73 ± 15

E1 2529 ± 177 94 ± 34 73 ± 15
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^H9�IY ^H>IY ^H"
IY ^H"�IY

E2 86881 ± 34309 3508 ± 1020 962 ± 354 327 ± 148

E3 142220±45230 6102 ± 2076 808 ± 282 392 ± 97

E4 130800±43000 7005 ± 2850 1101±250 839 ± 250
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^ [T i]
[V ] Y ^ [Co]

[Cr]Y ^ [T i]
[Cr]Y ^ [T i]

[Co]Y

E2 23, 9 ± 2, 8 3 ± 0, 35 273 ± 19 89 ± 3

E3 23, 41 ± 1 2 ± 0, 3 387 ± 110 229 ± 40

E4 21, 15 ± 1 1, 8 ± 0, 5 214 ± 50 120 ± 16
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Matrice extra-cellulaire

contenant des débris

métalliques, de polyéthylène,

des macrophages et des cellules

géantes.

←−

Tissu fibreux,fibroblastes et fi-

bres de collagène.
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���@ ��� �������� �� #L ���� �� �����
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40K 9, 3 ± 0, 9 3, 7 ± 0, 6 2 ± 0, 5 4, 4 ± 0, 6
137Cs < 0, 05 < 0, 03 < 0, 04 < 0, 04
238U < 0, 6 1 ± 0, 5 1, 2 ± 0, 4 0, 7 ± 0, 2
226Ra 0, 15±0, 03 0, 25 ± 0, 05 0, 23 ± 0, 04 0, 25 ± 0, 05
228Ra < 0, 03 < 0, 1 < 0, 1 < 0, 15
228Th < 0, 12 < 0, 05 < 0, 04 < 0, 05
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238U 0, 1 ± 0, 05 0, 64 ∼ 0, 09
230Th 0, 02 ∼ 0, 07 0, 47 ± 0, 015
226Ra 0, 27 ± 0, 17 15, 1 ± 1
232Th 0, 006 ∼ 0, 024 0, 99 ± 0, 055
228Ra 0, 1 ± 0, 05 −
228Th − 7, 1 ± 0, 65
60Co − −
40K − −
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40K 16 ± 2 15 ± 2 14 ± 2 11, 5 ± 1 11 ± 2
137Cs < 0, 15 < 0, 08 0, 16±0, 08 < 0, 06 < 0, 1
238U < 7 < 4 < 5 < 3 < 6
226Ra 9, 8 ± 0, 4 6, 6 ± 0, 3 6, 8 ± 0, 3 7, 5 ± 0, 2 9, 1 ± 0, 4
228Ra 12, 2±0, 07 4, 6 ± 0, 3 9, 7 ± 0, 5 10, 2± 0, 4 13 ± 1
228Th 3, 4 ± 0, 3 1, 3 ± 0, 2 2, 4 ± 0, 2 2, 9 ± 0, 1 3, 1 ± 0, 2
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40K 16 ± 2 8 ± 1 10 ± 1 9 ± 1 10 ± 1
137Cs < 0, 06 < 0, 08 < 0, 04 < 0, 07 < 0, 04
238U < 1 < 41 < 1, 3 < 1, 8 < 1
226Ra 0, 57±0, 09 0, 33±0, 09 0, 46±0, 05 0, 48 ± 0, 07 0, 45±0, 04
228Ra 0, 83 ± 0, 2 0, 46 ± 0, 1 0, 83±0, 11 0, 44±0, 0, 1 0, 64±0, 07
228Th 0, 23±0, 05 0, 17±0, 04 0, 23±0, 07 0, 17 ± 0, 04 0, 21±0, 03
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40K 32 ± 2

137Cs 0, 017±0, 04
238U < 1
226Ra 2, 6 ± 0, 2
228Ra 1, 4 ± 0, 2
228Th 1, 1 ± 0, 1
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40K 0, 14 ± 0, 05 0, 23 ± 0, 06 < 0, 35
60Co 0, 38 ± 0, 05 0, 65 ± 0, 05 < 0, 014
137Cs < 0, 04 < 0, 06 < 0, 02
238U < 0, 08 < 0, 08 4, 2 ± 0, 5
226Ra < 0, 025 < 0, 02 < 0, 007
228Ra < 0, 021 < 0, 03 0, 15 ± 0, 05
228Th < 0, 008 < 0, 015 0, 12 ± 0, 03
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40K < 1, 3 < 4, 6 < 1, 3
60Co 0, 13 < 0, 2 < 0, 1
137Cs < 0, 05 < 0, 2 < 0, 12
234Th 22 ± 4 33 ± 5 48 ± 4
214Pb 0, 4 ± 0, 1 2, 3 ± 0, 2 1 ± 0, 15
214Bi 0, 4 ± 0, 1 2, 3 ± 0, 2 1 ± 0, 15
228Ac < 0, 4 1, 3 ± 0, 4 < 0, 4
212Pb < 0, 1 0, 9 ± 0, 2 < 0, 1
208T l < 0, 2 0, 3 ± 0, 05 < 0, 15
235U 1, 3 ± 0, 12 1, 5 ± 0, 2 1, 6 ± 0, 1
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40K < 1, 7 1, 36 ± 0, 02
60Co < 0, 16 < 0, 5
137Cs < 0, 14 < 0, 15
234Th 31 ± 3 < 4, 5
214Pb 0, 58 ± 0, 12 < 0, 5
214Bi 0, 58 ± 0, 12 < 0, 5
228Ac < 0, 5 < 0, 9
212Pb < 0, 1 < 0, 5
208T l < 0, 03 < 0, 2
235U 1 ± 0, 1 < 0, 2
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RESUME :

Les implants utilisés comme biomatériaux sont fonctionnels, biocompatibles et certains bio-actifs. Il existe 
quatre familles de biomatériaux: les métaux et alliages, les céramiques, les polymères et les matériaux naturels. 
Des phénomènes d’usures (corrosion, frottement) génèrent des débris dans l’organisme. Ces débris engendrent 
différents  problèmes: toxicité, réactions inflammatoires, descellements prothétiques par lyse osseuse. Nature, 
taille, morphologie, quantité des débris sont des paramètres qui influencent les réactions biologiques susceptibles 
de se produire.  
Nous avons caractérisé la contamination métallique (migration, comportement in vivo, quantité, taille et nature 
des débris) provenant des prothèses de genou au niveau du tissu capsulaire voisin. Les méthodes PIXE-RBS et 
STEM-EDXS, principalement employées, sont des outils complémentaires.
Les débris sont répartis de façon hétérogène dans l’articulation du genou. Ils migrent sur plusieurs milliers de 
µm en profondeur. Pour les échantillons fortement pollués, les débris sont des grains d’alliages de dimension de 
l’ordre du µm (PIXE). Les rapports massiques in vivo confirment la stabilité chimique des grains de TA6V et 
l’évolution des grains de CrCoMo. Une étude à l’échelle nanométrique (STEM-EDXS) montre une dissolution 
de grains de TA6V (µm) en de plus petits (nm). Localement la présence de grains de phase α indiquerait une 
dissolution préférentielle de la phase β (joint de grain) avec largage de Al et de V éléments carcinogènes et 
toxiques. 
Le développement d’un protocole PIXE-histologie en cible mince, corrèle une analyse PIXE et histologique sur 
une même zone. Ce protocole  informe sur les pathologies liées aux contaminations métalliques, même si leur 
teneur est de l’ordre du µg/g, grâce à la sensibilité de la méthode PIXE. 
De plus l’innocuité vis à vis de la radioactivité de plusieurs biomatériaux naturels ou synthétiques est établie, à
l’aide de système de détection γ ultra bas bruit de fond. 

Mots clés : prothèse, biomatériaux, alliage TA6V, alliage CrCoMo, usure, débris métalliques, ultra faible 
radioactivité, PIXE-RBS, STEM-EDXS.

ABSTRACT:

Implants used as biomaterials fulfill conditions of functionality, compatibility and occasionally bio-activity. 
There are four main  families of biomaterials: metals and  metal alloys, polymers, bioceramics  and natural 
materials. Because of corrosion and friction in the human body, implants generate debris. These debris develop 
different problems: toxicity, inflammatory reactions, prosthetic unsealing by osseous dissolution.  Nature, size, 
morphology and amount of debris are the parameters which have an influence on tissue response.
We characterize metallic contamination coming from knee prosthesis into surrounding capsular tissue by depth 
migration, in vivo behaviours, content, size and nature of debris. The PIXE-RBS and STEM-EDXS methods, 
that we used, are complementary, especially about characterization scale.
Debris contamination distributed in the whole articulation is very heterogeneous. Debris migrate on several 
thousands µm in tissue. Solid metallic particles, ~ µm,  are  found in the most polluted samples, for both kinds of 
alloys TA6V and CrCoMo. In the mean volume analysed by PIXE, the in vivo mass ratios [Ti]/[V] and [Co]/[Cr] 
confirm the chemical stability of TA6V debris and chemical evolution of CrCoMo debris. Complementary 
measures of TA6V grains, on a nanometric scale by STEM-EDXS, show a dissolution of coarse grain (~ µm) in 
smaller grains (~ nm). Locally, TA6V grains of α phase are detected and could indicate a preferential dissolution 
of β phase (grain boundaries) with dropping of Al and V, both toxic and carcinogenic elements. 
A thin target protocol development correlates PIXE and histological analysis on the same zone. This protocol 
allows to locate other pathologies in relationship with weaker metal contamination, ~ µg/g, thanks to the great 
sensitivity of PIXE method.
Harmlessness with respect to the residual radioactivity of several natural or synthetic biomaterials is established, 
using ultra low background noise γ detection system.

Keywords : prostheses, biomaterials, TA6V alloy, CrCoMo alloy, wear, metallic debris, ultra low radioactivity, 
PIXE-RBS, STEM-EDXS


